In the problems covered in the recent weeks’ lectures, one topic that we discussed was Bernoulli’s
equation and the flow of fluids. We also discussed Newton’s law and the limitations involved with it. A

part of our discussion of hydrodynamics included us revisiting the laws of thErmodynamicﬁ. Following

that, we discussed friction losses in pipes and other systems and how to calculate them based on given

information, as well as how to reference our textbooks to find the proper information. Fin“ally, we

learned about the Reynold’s number and how to calculate flow patterns in different situations to

determine whether kf,low is laminar or turbulent. ‘
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